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matrixlogic
▫ ▫  Matr ix  log ic  puzz les  are  puzz les  where  a  set 
o f  c lues  are  used to  determine a  set  of  facts .  By 
us ing  the  matr ix  gr id  you  can  add  an  X  for 
in formation  that  is  fa lse  and  an  O  for 
in formation that is  t rue.

thebeach
▫ ▫  Dave  is  taking  h is  l i t t le  brother  Dan  to  the 
beach,  a long  with  Dave's  f r iends  Aaron  and 
Cory.  Use  the  c lues  be low  to  determine  which 
guy brought  which beverage and snack.

▫  The  guy  who  brought  lemonade  to  dr ink  had  a 
snack with choco late on or in  i t .
▫  E i ther Aaron or  Dave brought  the Mt.  Dew.
▫  Cory,  who d id  not  br ing Pepero,  brought  e i ther 
Dr.  Pepper or  Lemonade.
▫  Dan  brought  ei ther  Water  or  BBQ  Chips,  but 
not both.
▫  The  guy  who  brought  the  Heath  Bar  d id  not 
br ing Dr.  Pepper.
▫  Dave,  who  brought  the  Cheezi ts ,  d id  not  br ing 
the Dr.  Pepper.
▫  Ne i ther  the  water  nor  the  Dr.  Pepper  were 
brought  by the guy who brought the Pepero.
▫  Cory d id not get  the BBQ Chips.
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*  Note:  I  GOT  HORRIBLE  SUNBURN  AT  THE 
BEACH.  Unless  you  are  used  to  get t ing  a  lo t  o f 
sun,  I  suggest  not  us ing  sunscreen  from  the 
do l lar  s tore.  Oh,  and  remember:  i f  you  take 
snacks  to  the  beach,  c lean  up  after  yourse l f .  I 
s tepped in  g lass  f rom  broken beer  bott le  on the 
beach that was bur ied.  That 's  just wrong.

gridfill-in
▫ ▫  F i l l  in  the  gr id  below  with  shapes  using  the 
p ieces  below.  There  is  only  one  of  each  shape  in 
the  gr id,  so  p ieces  with  the  same  shape  wi l l 
over lap in  the gr id.
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multisudoku
▫ ▫  Th is  puzz le  is  made  up  of  5  d i f ferent  6x6 
gr ids.  Each  row,  co lumn,  and  shape  from  each 
gr id must  have one of  each d ig i t  f rom 1 to 6.
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